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Aufgabe 9a: 
Gesamtfläche berechnen 
--- 
Fläche Parallelogramm: 
3,5 * 3 = 10,5 cm² 
--- 
Fläche Rechteck: 
2 * 1 = 2 cm² 
--- 
Fläche (2 Halbkreise = 1 Vollkreis) 
0,5 * 0,5 * PI = 0,785398 cm² 
--- 
Fläche (Rechteck und 1 Vollkreis) 
2 + 0,785398 = 2,785398 cm² 
--- 
Fläche (Gesamt) 
10,5 - 2,7854 = 7,7146 cm² 
 
 

 
 
Längen berechnen 
--------- 
Äußere Umrandung LA 
Wurzel(3^2 +0,5^2) = 3,041381 
LA = (2 * 3,5) + (2 * 3,041381) 
LA = 13,082762 
--- 
Innere Umrandung 
LI = (2 * 2) - (2* 1) + (2 * 1) + (1 * pi()) 
LI = 7,141593 
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